Multiplication par 10* (C)

92 x 10*

36 x 10!

98 x 10*

53 x 101!

59 x 10!

66 x 10*

81 x 10?

29 x 10*

71 x 10!

49 x 10*

Trouvez chaque produit.

46 x 10*

94 x 10 =

83 x 10 =

53 x 10! =

59 x 10*

46 x 10*

62 x 10!

28 x 10*

84 x 10' =

50 x 10 =

MathsLibres.Com




Multiplication par 10" (C) Solutions

92 x 10* =920

36 X 10' =360

98 x 10* = 980

53 x 10' =530

59 x 10' = 590

66 X 10' = 660

81 x 10' =810

29 x 10* =290

71 x 10* =710

49 x 10' =490

Trouvez chaque produit.

46 x 10* = 460

94 x 10' = 940

83 x 10' =830

53 x 10*' =530

59 x 10* = 590

46 x 10* = 460

62 x 10* = 620

28 x 10 =280

84 x 10' = 840

50 x 10* =500
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